
CUSTOMER SERVICE
877.370.3604 (toll free)

INSTALLATION QUESTIONS
techsupport@kuryakyn.com

or call 715.247.2983

LIMITED WARRANTY
Küryakyn warrants that any Küryakyn products sold 

hereunder, shall be free of defects in materials and 
workmanship for a period of one (1) year from the 

date of purchase by the consumer excepting the fol-
lowing provisions:

 
• Küryakyn shall have no obligation in the event 

the customer is unable to provide a receipt showing 
the date the customer purchased the product(s). 

• The product must be properly installed, 
maintained and operated under normal conditions. 

• Küryakyn makes no warranty, expressed or 
implied, with respect to any gold plated products. 

• Küryakyn shall not be liable for any consequential 
and incidental damages, including labor and 

paint, resulting from failure of a Küryakyn product, 
failure to deliver, delay in delivery, delivery in noncon-

forming condition, or for any breech of contract or 
duty between Küryakyn and a customer.  

• Küryakyn products are often intended for use 
in specific applications. Küryakyn makes no 

warranty if a Küryakyn product is used in 
applications other than intended. 

• Küryakyn electrical products are warranted for one 
(1) year from the date of purchase by the consumer. 
Components of Küryakyn products containing L.E.D.s 

will be warranted for defects in materials and 
workmanship for 3 years from the date of purchase. 

• Küryakyn makes no warranty of any kind in regard 
to other manufacturer’s products distributed by 

Küryakyn. Küryakyn will pass on all warranties made 
by the manufacturer and where possible, will expedite 

the claim on behalf of the customer, 
but ultimately, responsibility for disposition of the 

warranty claim lies with the manufacturer. 

ABOUT OUR CATALOG
You’ll find all our innovations for H-D, GL and 

Metric Cruisers in our annual catalogs. Order online 
today–select the ”CATALOGS” icon. Each Küryakyn® 
product comes with a Proof-of-Purchase good for a 

complimentary catalog. Details in packaging.

Be sure to ask your local dealer about other 
Küryakyn products, the motorcycle parts and ac-

cessories designed for riders by riders.

©2005 Küryakyn USA®  All Rights reserved.

INSTALLATION

Parts Included
  1 Silhouette Accent Front Half
  1 Silhouette Accent Rear Half
  3 6-32 x 1/4 Button Socket Cap Screw (BSCS)
  1 5/16 Flat Washer (Included for custom applications)
  1 Installation Instructions

Please read and understand entire instructions before starting installation.

thank you for choosIng küryakyn!

CAUTION! Ensure that the installation of this product does not interfere with the proper 
operation of the motorcycle before riding.

ATTENTION! It is the installer’s responsibility to ensure all fasteners (including pre-assembled) 
are tightened before operation of the motorcycle. Kuryakyn will not warranty 
components lost due to improper installation. Periodic maintenance may be 
required.

note  Installation is shown on a 2007 Road Glide; while representative of typical 
procedure, there may be minor differences when installed on other models.

tools suggested
Set of hex wrenches, combination wrenches 

Procedure
steP 1 Park the motorcycle on a hard, level 
surface; turn off the ignition and allow the engine to 
cool.

steP 2 Remove the front of the shift linkage from 
the shift lever and the rear of the linkage from the 
transmission lever.  See PIC.1.

steP 3 Assemble the front and back halves of the Silhouette Accent and secure them with 
the three 6-32 x 1/4 Button Socket Cap Screws (BSCS); fully tighten the screws.

steP 4 Slide the cover assembly over the shifter 
lever; align the hole in the cover with the hole in the 
lever.  See PIC.2.

steP 5 Reinstall the front of the linkage and secure 
with the original nut. Install the included 5/16 washer 
between the Silhouette Accent and the shift linkage 
barrel joint if more clearance is necessary.

-cont.-

fIts:  ’82-uP dressers, road kIngs, road glIde, street glIde wIth or 
wIthout kuryakyn front Inner PrImary extensIon, P/n 8289 or 8370

1043-12HD-0607

sIlhouette front shIft arm accent  1043 

PIc.1

shIfter 
lever

barrel 
joInt

remove front 
of shIft lInkage 

from lever

PIc.2

alIgn the 
holes



InstallatIon

steP 6 Reinstall the rear of the shift linkage to the transmission lever.

steP 7 Ensure that the shifter operates properly and has sufficient clearance before operating the 
motorcycle.

Ride On!

Page

2
s I l h o u e t t e  a c c e n t InstallatIon

Page

2


